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g |MudBlE A A | xR e
o |BAED | A Vyd AR “Vyd | E-F
Vmu Vyd & Vdmax
42| —- 19322 | ——| 5227 | 0271 | Mx
43| -——- 196.54 | ——=| 70.18 | 0.357 | M
44 | —- 196.89 | ———| 7351 | 0373 | Mx*
45| ——- 197.25 | ———|  84.92 | 0431 | Mx*
8| —- 195.06 | ———| 89.40 | 0458 | Mx*
47| —- 21507 | —-| 8940 | 0416 | Mx
48| ——- 256.97 | ———| 102.80 | 0.400 | M
49| ——- | | I S—
50 | ——- | | I S—
51 | ——- §1.35 | —=|| 5826 | 0.716 | M*
52 | —- 81.35 | —-|| 5826 | 0.716 | M#
53 | -——- 81.35 | —=|| 5826 | 0716 | M*
54 | ——- 81.35 | —-|| 5826 | 0.716 | M#
55 | ——- 81.35 | ——|| 5826 | 0716 | M*
56 | ———- | | I S—
57| —- | | I S—
58 | ———- 81.24 | —=|| 8051 | 0.991 | M#
59 | —- 81.24 | —-|| 8051 | 0.981 | M#
60 | -——- 81.24 | —=|| 8051 | 0.991 | M#
61 | -—- §1.24 | —=|| 8051 | 0.981 | M*
62 | -—- 81.24 | —-|| 8051 | 0.981 | M*
83 | -—- | | I S—
64 | -——- it Bt B — S ——
85 | -——- 233.29 | ——-| 14044 | 0.602 | M*
66 | -——- 198.27 | ——| 136.63 | 0.689 | Mx
67 | -—- 207.34 | ——-| 12450 | 0.600 | M
88 | —- 22030 | ————| 10528 | 0.478 | Mx
69 | -——- 22045 | ——-| 7835 | 0355 | M+
70| -—- 22059 | ——=| 71.20 | 0323 | M
| - 206.53 | —-| 5227 | 0253 | Mx
72| -——- 197.49 | ———| 8022 | 0.406 | Mx*
73| —-o 236.86 | ————| 137.63 | 0582 | Mx
M:
50 56 57 63




